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Chapter 14 Problems

Use the following for the next three questions.

Miller Company provided the following balance sheet and income statement:

	Miller Company 

	Balance Sheet

	December 31, 2007 and 2006

	
	
	
	

	Assets
	2007
	
	2006

	Cash
	 $         480 
	
	 $      1,080 

	Accounts Receivable
	         1,800 
	
	         1,680 

	Inventory
	       11,520 
	
	       12,000 

	Plant & Equipments
	         9,720 
	
	       12,600 

	Less:  Accumulated Depreciation
	        (1,440)
	
	      (1,080) 

	Land
	         7,200 
	
	       10,200 

	Total Assets
	 $    29,280 
	
	 $    36,480 

	
	
	
	

	Liabilities & Stockholders' Equity
	
	
	

	Accounts Payable
	 $      1,320 
	
	 $         960 

	Salaries Payable
	         5,160 
	
	         4,080 

	Long-term Note Payable
	                 - 
	
	         3,000 

	Bonds Payable
	         4,800 
	
	         1,200 

	Capital Stock
	         9,600 
	
	       12,000 

	Retained Earnings
	         8,400 
	
	       15,240 

	Total Liabilities & Stockholders' Equity
	 $    29,280 
	
	 $    36,480 

	
	
	
	

	Miller Company

	Income Statement

	For the Year Ended December 31, 2007

	Sales
	 $    24,720 
	
	

	Less:  COGS
	       12,600 
	
	

	Gross Margin
	 $    12,120 
	
	

	Less:  Operating Expenses
	
	
	

	   Depreciation
	            960 
	
	

	   Salaries
	         3,240 
	
	

	   Other
	         2,400 
	
	

	Operating Income
	 $      5,520 
	
	

	Nonoperating Revenues and Expenses
	
	
	

	    Interest Expense
	            600 
	
	

	    Gain on Sale of Equipment
	         3,720 
	
	

	Net Income
	 $      8,640 
	
	


1. What is the company’s net cash flow from operating activities for 2007?
Net Income  + Depr – Gain on Sale - Inc. in A/R + Dec. in Inventory + Inc. in A/P + Inc. in Salary Payable

$8,640 – 3,720 + 960 – 120 + 480 + 360 + 1,080 = $7,680 

a. $  7,680

b. $11,400

c. $  6,720

d. $  7,920

e. None of the above

2. What is the company’s net cash flow from investing activities for 2007?
	
	Equipment
	
	Accum Depr
	

	Beg. Bal.
	12,600
	2,880
	
	
	1,080
	Beg. Bal.

	End. Bal.
	9,720
	 
	
	600
	960
	CY Depr Exp

	
	
	
	
	
	1,440
	End. Bal.

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	The J/E to record the sale is:
	
	
	
	

	
	Dr.
	Cr.
	
	
	
	

	Cash
	X
	
	
	
	
	

	Equip
	
	2,880
	
	
	
	

	A / D
	600
	
	
	
	
	

	Gain
	
	3,720
	
	
	
	

	
	
	
	
	
	
	

	Cash must be $6,000 to make J/E balance
	
	

	
	
	
	
	
	
	

	
	Land
	
	
	
	

	Beg. Bal.
	10,200
	3,000
	
	
	
	

	End. Bal.
	7,200
	 
	
	
	
	

	
	
	
	
	
	
	

	The J/E would be:
	
	
	
	
	

	
	
	
	
	
	
	

	Cash
	$3,000 
	
	
	
	
	

	Land
	
	$3,000 
	
	
	
	

	
	
	
	
	
	
	

	The cash = cost of land b/c there was no gain or loss
	


a. $3,000

b. $6,000

c. $12,000

d. $9,000

e. None of the above
3. What is the company’s net cash flow from financing activities for 2007?
	N/T Note Payable 
	

	        3,000 
	        3,000 
	 Beg. Bal. 

	
	                 - 
	 End. Bal. 

	
	
	

	 Bonds Payable 
	

	
	        1,200 
	 Beg. Bal. 

	
	        3,600 
	

	
	        4,800 
	 End. Bal. 

	
	
	

	 Capital Stock 
	

	        2,400 
	     12,000 
	 Beg. Bal. 

	
	        9,600 
	 End. Bal. 

	
	
	

	 R/E 
	

	
	     15,240 
	 Beg. Bal. 

	     15,480 
	        8,640 
	 CY Net Income 

	
	        8,400 
	 End. Bal. 


-3,000 + 3,600 – 2,400 – 15,480 = ($17,280)
a. $600

b. ($14,880)

c. ($17,280)

d. ($2,400)

e. None of the above

4. Evelyn Company began the accounting period with $13,500 in accounts receivable.  The ending balance in accounts receivable was $5,000.  If the credit sales during the period were $22,000, what is the amount of cash received from customers?
	
	 Accts. Rec. 

	 Beg. Bal. 
	     13,500 
	 

	 Cr. Sales 
	     22,000 
	     30,500 

	 End. Bal. 
	        5,000 
	 


a. $13,500
b. $22,000
c. $30,500
d. $40,500
e. None of the above
5. Stevens Associates uses the indirect method for preparing the statement of cash flows.  The following accounts and balances were drawn from the company’s accounting records:
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Beginning Balance

Ending Balance

Account Receivable
Prepaid Insurance
Accounts Payable
Unearned Revenue

$15,000
2,300
12,000
3,200

$20,000
500
12,900
1,900




Net income for the period was $16,000, which includes $5,000 of depreciation expense.  The net cash flows from operating activities would be;
$16,000 + 5,000 – 5,000 + 1,800 + 900 – 1,300 = $17,400
Net Income + Depr. – Inc. A/R + Dec. Prepaid + Inc. A/P – Dec. Unearned Rev
a. $17,400
b. $18,600
c. $20,000
d. $24,600
e. None of the above
